METHEREE RS ( MEHBHRR =R )

Bl 8

R4 £ ZYLET
E Ed 1A
IIRAHER 13 A
Ba | ux Bl P & B & e | 28 | %2 | 2 & | T2 |—owrvnsoriz]| # B &
= | 0¥ | BWERs(FES) " K eI v =
1 ke n7ER ] 67 FEREY BAE n
2 % B 520 BE L] 45 i-ES AR #
3 BR ER 22 +402 ] 62 | REEUBME BAE )
4 ECIEY ] 67 | mmmgeE S )
5 iy A L 50 E E # 5
6 il i il pEoc B | @ B 2B B
7 Y B bt~ BaL ] 69 b-ES BRR B
8 XR Ex BHah Ea B 66 BEE 3o ®
9 Wh 2% 155 EX E:] 67 i34 TR #;
10 & e sap BE 8 65 G-ES EIR ® o
1 Wm B ] 66 EiHE AR o
12 grLee wos BE rrox % 39 ERES B n
13 £k KE 2% vatn E 41 ] =R 5% | nttos/tuitter com/tereeas
BEBR &””’%’gfb“ WThOBRMEICLEL | AMEERN RNREY BEEM BHRY BEER
= BOEH c| (A+B+C) D E (D+E) F Z0H G (F+G) H
0 0 0
HEESEH 0.000 BEE SRR 0.000
PIERE X B %



https://twitter.com/tezee36

